Bek XXnBn — BEK YYUCh.

300po8ke — 8CeMy 20/108a,
300p08bLE 8CE20 OOPOXKE

CKy4eH OeHb 00 Beyepa,
KON aenaTtb HeYero.

Bcsk ceoeao cyacmbs Ky3Heu.



ANroputm
3anuLumn B CTONOUK Tak:
1.NocynTan KOINMNMYEeCTBO
Lnap, 3anucbiBan C
bonbLiero Konun4yecTBa

Lmdp.

2.3anncbiBan paspsa noAa
COOTBETCTBYHOLLUM
pa3pPsaoMm.

3.CknagbiBan paspsg C
COOTBETCTBYHOLLUM
pa3pPsaoM.







1 pan
25769 + 5790 + 67 110 + 3 478 =

2 paa
9 087 + 54 367 + 12 460 + 6 501 =



KOHTPOMNbHbLIN NPUMEP
56 466 + 7 630 + 19 054 =

83150



